## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Ratifying the Tohono O'odham Nation Vocational Rehabilitation Program
FY 2005 Budget Amendment #I/Modification #II)

RESOLUTION NO. 06-315

1	WHEREAS,	the Tohono O'odham Nation Legislative Council has previously supported the Nation's
2		${\bf Education Department in submitting a grant proposal and establishing the Vocational}$
3		Rehabilitation Program (Resolution No. 03-149); and
4	WHEREAS,	the Tohono O'odham Nation was awarded a grant under Section 121 of the
5		Rehabilitation  Act  (Vocational  Rehabilitation  Services  Projects  for  American  Indians  Act  (Vocational  Rehabilitation  Services  Projects  American  Indians  Act  (Vocational  Rehabilitation  Services  Projects  American  Indians  Act  (Vocational  Rehabilitation  Services  Projects  Act  (Vocational  Rehabilitation  Services  Projects  Act  (Vocational  Rehabilitation  Projects  Act  (Vocational  Rehabilitation  Projects  Act  (Vocational  Rehabilitation  Projects  Projects  Act  (Vocational  Rehabilitation  Projects  Pr
6		with Disabilities) and received grant notification number H250D030012; and
7	WHEREAS,	services under the Tohono O'odham Nation Vocational Rehabilitation Program are
8		provided to eligible American Indians with disabilities who reside on the Tohono
9		O'odham Nation, with enrolled members given priority; and
10	WHEREAS,	the Vocational Rehabilitation Program must ensure the facility is maintained and
11		meets the requirements of 34 C.F.R. Section 361.51, Standards for Facilities and
12		Provider of Services, which states any facility used in connection with the delivery of
13		vocational rehabilitation services under this part meets program accessibility
14		requirements consistent with the requirements, as applicable, of the Architectural
15		BarriersActof1968, theAmericanwithDisabilitiesActof1990, section504oftheAct,
16		and the regulations implementing those laws; and
17	WHEREAS,	$the \ Vocational \ Rehabilitation \ Program's \ parking \ area \ is \ a \ barrier \ to \ individuals \ with$
18		mobility issues (individuals who use wheelchairs, are fitted with leg prosthetics, or
19		possess low/no vision), which makes it difficult to enter the building without
20		assistance, and Vocational Rehabilitation Program has therefore utilized funds to
21		construct a paved parking area; and
22	WHEREAS,	the total cost of the paving project was \$20,800.00, which exceeded the \$5,000.00
23		capital purchase budget requirement and was funded through a depreciation line
24		item; and
25	WHEREAS,	line item750-CapitalEquipmentwasaddedtotheVocationalRehabilitationProgram
26		FY 2005 budget, and \$7,000.00 from 772 - Repair and Maintenance Building and
27		\$13,800.00 from 856 - Client Support was moved to the 750 - Capital Equipment line
28		item; and

	RESOLUTION NO. <u>06-315</u> (Ratifying the Tohono O'odham Nation Vocational Rehabilitation Program FY 2005 Budget #I/Modification #II) Page 2 of 3
1	WHEREAS, because the Capital Equipment line item was added during the FY 2005 closeout
2	process and FY 2005 has closed, it is necessary for the Tohono O'odham Legislative
3	Council to ratify these actions, including the addition of line item 750-Capital
4	Equipment, by approving the attached Vocational Rehabilitation Program FY 2005
5	Budget Amendment #I/Modification #II, which is hereby incorporated by this
6	reference.
7	NOW, THEREFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council hereby (1)
8	approves the Vocational Rehabilitation Program FY 2005 Budget Amendment
9	#I/Modification #II effective retroactive to October 1, 2004 and (2) ratifies the
10	expenditure of such funds in accordance with the laws and policies of the Nation and
11	applicable grant requirements.
12 13 14 15 16 17 18	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the <u>08<sup>TH</sup>.</u> day of <u>MAY, 2006</u> at a meeting at which a quorum was present with a vote of <u>1,597.5</u> FOR; <u>169.0</u> AGAINST; <u>506.9</u> NOT VOTING; and <u>167.4 [06]</u> ABSENT, pursuant to the powers vested in the Council by Section <u>1(f)</u> of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).
20	TOHONO O'ODHAM LEGISLATIVE COUNCIL
21 22	aulmto
23	Evelyn B. Juan Manuel Legislative Chairwoman
23 24 25 26	
25 26	day of May, 2006
27	ATTEST:
28	
29	Cura for i
30 31	Lucille Lopez, Acting Legislative Secretary
32	1/10 day of May , 2006.
33	day of May , 2006.
34	
35	Said Resolution was submitted for approval to the office of the Chairwoman of the Tohono
36	O'Odham Nation on the day of
37	
38 39	upon her approval or upon her failure to either approve or disapprove it within 48 hours of submittal.
,,	BADIII COLL.

	RESOLUTION NO. <u>06-315</u> (Ratifying the Tohono O'odham Nation Vocational Rehabilitation Program FY 2005 Budget #I/Modification #II) Page 3 of 3
1	TOHONO O'ODHAM LEGISLATIVE COUNCIL
2	
3	$Q_{11}Q_{1$
4	Collen Branch
5	Evelyn B. Juan Manuel, Legislative Chairwoman
6	
7	
8	$\sim 10^{-10}$
9	APPROVED on the, 2006
10	2:36 N
11	[ ] DISAPPROVED at $\frac{3.35}{}$ o'clock, $\frac{1}{}$ .M.
12	
13	//INIAIN VOLARA XALLA BO
14 15	- V NWW Y VWW GIWING
16	VIVIAN JUAN-SAUNDERS, CHAIRWOMAN TOHONO O'ODHAM NATION
17	TOHONO O ODRAM NATION
18	
19	.,
20	Returned to the Legislative Secretary on theday of
21	
22	May , 2006, at 4.34 o'clock, P.M.
23	
24	Kari
25	
26	Lucille Lopez, Acting Legislative Secretary
27	
28 29	
30	
31	
32	
33	
34	
35	
36	
37	
38	
39	
40 41	
41	
43	
44	
45	
46	

ACTION: RATIFYING THE TOHONO O'ODHAM NATION VOCATIONAL REHABILITATION PROGRAM FY 2005

**BUDGET AMENDMENT #I/MODIFICATION #II** 

MOVED: COUNCILWOMAN MARLENE SARAFICIO-JUAN

SECOND: COUNCILWOMAN GLORIA RAMIREZ

DATE:

MAY 08, 2006

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 310.8	FRANCES MIGUEL **  (Vernon J. Smith)	155.40	X			
310.0	2. FRANCES G. ANTONE (Absent) (Lucilda J. Valenzuela (Norris)) (Present)	155.40	X			
CHUKUT KUK 258.7	1. ETHEL GARCIA	129.35	X			
256.1	2. VERLON M. JOSE (David Garcia)	129.35	X			
GU ACHI	1. TIMOTHY L. JOAQUIN (Jonas Robles) 2. CYNTHIA E. MANUEL	110.80	X			
221.6	2. CYNTHIA E. MANUEL (Louis L. Johnson)	110.80	X			
GU VO	1. RAYMOND VICTOR	96.55	X			
193.1	2. MICHAEL FLORES (Grace Manuel)	96.55	X			X
HICKIWAN	1. DELMA GARCIA (Mary E. Sam)	83.70				x
167.4	2. SANDRA ORTEGA	83.70				X
PISINEMO	1. BARBARA SALVICIO	85.90	X			
171.8	2. GERALD FAYUANT	85.90	X			
SAN LUCY	1. JOHN W. LAWSON, SR.	84.50	X			X
169.0	2. GLORIA RAMIREZ	84.50	X			
SAN XAVIER	1. FELICIA NUÑEZ	96.90	X			X
193.8	2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	96.90	X			
SCHUK TOAK	1. FRANCES B. CONDE	73.45	X			X
146.9	2. PHYLLIS JUAN	73.45	X			
SELLS	1. MARLENE SARAFICIO-JUAN	210.50	X			
421.0	2. EVELYN B. JUAN MANUEL (Absent) (Kimberly Listo) (Present)	210.50	X			
SIF OIDAK	1. WAVALENE SAUNDERS (Isidro Lopez)	93.35	X			
186.7	2. DARLENE ANDREW (Rita Martinez)	93.35	X			
	TOTAL	2,440.80	2,273.4	-0-	-0-	167.4 [06]